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Question B

Not yet

When the basic size of a shaft is equal to 35 mm, the upper deviation and the lower deviation
answered

for the shaft are (+ 0.00 mm), (- 0.02 mm) respectively. The type of tolerance for this shaft is
called
Marked out of

1.00

Flog

question ¢ A Unilateral tolerance

- gilateral tolerance
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D.5 minutes

C. 5 seconds

d. 1 second

Is easier to detect when compared with ¢



| Metric (103 ) pieces

1 piece (1.005) mm

49 pieces (1.01 to 1.49) mm
49 pieces (0.5 to 24.5 ) mm
- | 4 pieces (25- 100) mm

Clear my choice




- O c.3501mm

@ d. 3510 mm

cjaar my choice




Select one:
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Accuracy is the degree of repetitiveness of the measuring _r.oc;,as
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a. 50 degree and 15 minutes
b. 49 degree and 20 minutes

[E] c. 50 degree and 20 minutes

d. 51 degree and 20 minutes

Clear my choice
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For a shaft and a hole system, if the minimum diometer of the shaft is larger than the
maximum diameter of the hole, then the type of fit betwesn the shaft and the hole is

called
Q. clegrance
[#] b. interterence
. transibon

d. both A and B are commect







' ~ Select one:
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A shaft of 50-527 ig to be assembled with a hole of of S0=s.01

1. The maximum diameter for the shaff ig —=—-—ee—eeee

The mirimum digmeter for the shaoft is
The maximum diameter for the hole ig —=—escamcamaacaaa
The minimum diameter for the hole ig ===

The type of fit in this mystem if colled semsessnnmanns

The talerance of the shaft is equal to ————mmreemeeee
The tolerance of the hole iz equal 1o ~————eemmeerees
. The upper deviaticon T T o L e ——
The lower deviation of the shaft is ———rm-remrmrerees
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The fundomental deviation of the shaft ig —====ree=s
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quiz _2 section 1

Given the following for a shaft and a hole system:
1. The upper deviation of the shaft is equal to ( -0.10 mm )
2. The basic size of the system is equal to 30.00 mm.
3. The lower deviation of the hole 1s equal to 0.30 mm.
4. The maximum clearance between the shaft and the hole is
equal to 0.80 mm.
5. The tolerance of the shaft is equal to 0.10 mm
The required is
1. Draw a simple sketch for this system
2. Calculate the following for the shaft
The lower limit , the higher limit , upper deviation, the
lower deviation, the fundamental deviation, the tolerance,
the Maximum metal limit, and the minimum metal limit.
3. Calculate the following for the hole
The lower limit , the higher limit , upper deviation, the
fundamental deviation, the tolerance, the Maximum metal
limit, and the minimum metal limit.
4. Calculate the minimum clearance between the shaft and the
hole.

Show your calculations
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%‘u. clearance

) b. interference
) ¢ transition
() d. both A and B are correct

- e, all of the above are correct

Clear my choice
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to the instrument scale or

16 : : S, .
The arror which occurs when the line of sight is not perpendicular
d the observer reads the instrument from an angle is called ——————"""""" =i
put of
1 a. Datum errof

[8] b. Reading error
C. 28ro arror

d. parallax error

n 17 In a shaft and hole system the up
g HEAER MRS YSTaTTL the -“!"Iljr\r deviation of the hole 1s alway: areqater than the lower

deviation of the shaft
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Select one:

lag True
Bshon

: % False
uastion 12 The tolerance of a shaft is equal to the difference between its upper deviation and its
otyst lower deviation.
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